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Value

Common parameters \xf;a;tor/ Ten(s)oi"G(OVE Oa(r)lf6TiVO) 049
¢ [rad] | —0.10 +£0.13 +£0.14 fVT ' ' '
" 035 1 0084 £ 0,080 v 0.911 + 0.020 4 0.165
Al : : : i 0.012 = 0.008 £ 0.053
o vector/ VGC;OJ“[ (VVi o Frv 0.036 == 0.014 + 0.048
f 0.067 £ 0.004 £ 0.0 v 0.62 £0.16 +0.25
IYV 0.208 + 0.032 4+ 0.046 f”TV 024 +0.10 +0.14
L . . .
) rad (2)}2137 I 8'??9 i 8'232 SYT [rad] | —2.06 +£0.19 +1.17
[, : : : 6VT [rad] | =18 +04 +£1.0
\4
07" [rad] 2.62 £0.26 £0.64 (5%7“ rad] | =3.2 +0.3 +1.2
Scalar/Vector (SV and VS) 6TV [rad] 1.91 +£0.30 +£0.80
75V 0.329 £ 0.015 £ 0.071 5? [rad] | 1.09 +0.19 +0.55
SJVS 0.133+0.013+0.065 || 67V [rad] | 0.2 404 +1.1
05V [rad) | ~1.31 £0.10 £0.35 Tensor/Tensor (TT)
1) [rad] 1.86 +£0.11 +0.41 fTT 0.011 &= 0.003 &= 0.007
s Scalar/Scalar (SS) rr 0.25 +0.14 +0.18
7 0.225 £ 0.010 = 0.069 fIT 0.17 +0.11 +0.14
555 [rad] | 1.07 £0.10 +0.40 ir 0.30 018 +0.21
Scalar/Tensor (ST and TS) i 0.015 = 0.033 = 0.107
f5T 0.01440.006 £0.031 || 677 [rad] | 1.3 +05 +1.8
SijTS 0.025 £ 0.007 +0.033 || 617 [rad] 3.00 £0.29 £0.57
o7 fadl | =23 £04 17 6TT [rad] | 26 +04 =+£15
ST [rad) | 07 £06 £1.3




